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Year 1981-1982

No. X xd x2 y d y2 Xy
1 33 - L76 3.09 39365  + 9092.59 82675193 - 16002.95
2 3535 + .24 -.0.05 31825  + 1552.59 24105357 +  372.62
3 34 - .76 0.57 43765  + 13492.59 18204908 - 10254.37
4 34 - .76 0.57 37940 + 7667.59 58791936 -  5827.37
5 38 + 324 10.49 34615  + 4342.59 18858088 + 14069.99
6 33 - 176 3.09 42970  + 12697.59 16122808 - 22347.75
7 40 + 524 27.46 60760  + 30487.59 92949308 + 159754.97
8 37 + 224 5.01 37250  + 6977.59 48686762 + 15629.80
9 31 - 376 14.14 10770 - 19502.41 38034408 + 73329.06
10 35 + .24 0.05 14230 - 16042.41 25735808 -  3850.17
11 33 - 176 3.09 33510  + 3237.59 10481989 -  5698.15
12 37 + 224 5.01 38750  + 8477.59 71869532 + 18989.80
13 33 - 176 3.09 39365  + 9092.59 82675193 - 16002.95
14 35 + .24 0.05 10500 - 19772.41 39094808 - = 4745.37
15 31 - 3,76 14.14 2235 - 28037.41 78609608 + 105420.66
16 40 + 524 24.45 21989 -  8283.41 68614881 - 43405.06
17 32 - 276 7.62 14792 - 15480.41 23964308 + 42725.93
591 7777808 - 128134.14
34,76 124.97 124.97 514631 2788871 - 430292.83
11.17 30272.41
Xy = + 302158.69
No.
17 r=_Exy xy = + 302158.69
\/ &xz xg,y2
302158.69 - = _Ex = 12497
11.17 x 27888.71 Ex N 17
302158.69 3 = 34.76
311516.89 By = B o 514631
N 17
= 30272.41

i
+
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- YEAR 1982-1983

iy
¢ =

No. X xd x2 y yd y2 Xy
I 33 - 176 3.09 1753 - 1474 217.27  +  25.94
2 35 + .24 .05 25.12 - .15 51.12 - 7.72
3 34 - 16 .57 30.31 - 1.96 3.84 + 1.49
4 34 - .76 .57 35.99  + 3.72 13.84 - 2.83
5 38 +  3.24 10.49 28.90 - 3.37 1.36 = 10.92
6 33 - 1.76 3.09 31.41 - 0.86 0.74  + 1.51
7 40 + 5,24 27.46 41.76 + 9.49  90.07 +  49.73
8 37 + 224 5.01 26.72 - 5.55 30.80 - 12.43
9 31 - 376 14.14 85.70  + 53.43 2854,76 - 200.90
10 35 + .24 0.05 11,29 - 20.98 440.16 - 5.00
11 33 . - 176 3.09 23.60 - 867 175.17 + 15.26
12 37 + 224 5.01 31.98 - 029  0.08 - 0.65
13 33 - L76 3.09 17.53 - 14.74 217.27 - 25.94
14 35 + .24 0,05 84.00 + 51.73 2675.99 + 12.41
15 31 - 3.76 14.14 18,55 - 13.72 188.24 +  51.59
16 40 + 524 27.45 25.19 - 7.08 50.13 - 26 .09
17 32 - 276 17.62 13.12 - 19.15 366.72 + 52,85
No 591 124,97 548.7 7287.56 - 286.51
17 34.76 .17 32,27 : + 210,78
- 75.73
r = Exy
“Ex” x By’ Ex = Ex = 591
N~ _ 17
= _75.73 X = 34,76
JII7 X 728756 Ey = Y- 5487
N
17
) m? X 85.37 ' 3 =322

T2 e e e o



YEAR 1983-84

No. X X x2 -y yﬂ y2 Xy

i 33 - 176 3.00  19.91 20.9  436.81  + 3678
2 35 . .24 05 22.18 18.63  347.08 -  4.47
3 34 - .6 57 36.20 461 2125  +  3.50
4 % - .76 57 22.75 19.06  384.16  + 14.48
5 38+ 3.24 10.49  23.30 18.57 34262 -  59.97
6 33 - L6 3.09  28.52 13.92  176.62 + 24.50
7 0 o+ 524 27.46 7015 28.34  803.15  + 148.50
8 37 e 2,24 501  21.99 19.82  392.83 -  44.40
9 31 - 3.7 14.14 8150 39.69  1575.30 -  149.23
10 35 . .24 0.05  79.05 37.24  1386.82 +  8.94
1 33 - 176 3.00 3127 10.54 1109  + 18.55
12 37 o+ 2.24 501  31.02 1079 116.42 -  24.17
13 33 - 176 3.09  19.91 21.09  479.61  + 37.19
14 35 4 .24 0.05  65.00 23.19 53778  +  5.56
5 31 - 376 1414 19.20 22.61 51121  + 85.01
16 0 o+ 524 27.45 20,97 20.84 43430 - 109.20
17 32 - 276 7.62 10,79 31.02  962.24 + 85.61

No 591 124.97  693.8 9020,01
17 34,76 1117 40.81 . 168.62
- 39114
Xt = + T1.18

r= EXV Ex = LCX 591 = 34.76

= 591
Ex” x Ey” Ey = _Ey 693.8  =40.81
N 17
124.97 x 9020.01
11,17 x 94.97 - 7718
1060.81



YEAR 1984-1985

=
&3

W 00 =1 N W A W N e

31 to 40

No. X xd x2 y yd y2 Xy
33 - 176 3.09 13,57 - 13,33 177.68 + 23,46
35 + .24 .05 13.49 - 13.41 179.83 - 3.22
34 - .76 .57 25.03 - 1.87 3.49 + 1.42
34 - .76 .57 21.87 - 5.03 25.30 + 3.82
38 + 324 10.49 21,56 - 5.34 28.51 - 17.30
33 - L76 3.09 23,97 - 2.93 8.58 + 5.15
40 + 524 27.46 49,10 + 22,02 492.84 + 604,66
37 + 2,24 5.01 20,99 - 5.91 34.93 - 13.24
31 - 3.76 14.14 78,20 + 51,03 2631.69 - 192,88
10 35 + .24 .05 55.87 + 28,97 839.26 + 6.95
11 33 - L76 3.09 16.86 - 10,04 100.80 +  17.67
12 37 + 2,24 5.01 26,88 - 0.02 0.00 - 0.04
13 33 - 176 3.09 13.57 - 13.33 177.68 + 23.46
14 35 + .24 .05 35.00 + 8.00 65.61 + 1,94
15 31 - 376 14,14 16.30 - 10.06 112,36 + 39.85
16 40 + 5,24 27.45 14,73 - 12,17 148.11 - 63,77
17 32 - 2,76 7.62 10.33 - 16,57 274.56 + 43,73
No 591 124,97 457.32 5301.23 + 772,11
17 34,76 .17 26.90 72,81 - 290.45
Xy = + 48.66

:-a‘oé F:"y
Ex2 X Ey2
r = 481.66 = 481.66
11.17 x 72.81 813.28  _ Ex
Ex = - = 591
N 7
= 34.76
Ey = Ey = 47.32
N 17
y = 26.90

B =22 -t -2 34321
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YEAR 1985-86

31 to 40
No; X x‘ x’ y e 9 xy
y
1 33 -  1.76 3.09 50.10 + 15.43 280.08 - 26,57
2 35 + .24 .05 11.63 - 23.04 540.09 - 5.52
3 34 - .76 57 22.42 - 12,25 150.06 + 9,31
4 34 - .76 57 22.93 - 11.74 137.83 + 8.92
5 38 +  3.24 10.49 22.70 - 11.97 143.28 - 38.76
6 33 - 1.76 3.09 21,21 - 13.46 187.17 + 23.68
7 40 + 5.24 27.46 51.80 + 17.43 303.80 + 91.33
8 37 + 2,24 5.01 18.55 - 16.12 259.85 - 36.11
9 31 - 376 14.14 67.10 + 32,43 1051.70 = 121,94
10 35 + .24 05 53.49 + 18,82 354,19 + 4,51
i1 33 - 1.76 3.09 21.51 - 13.16 173.18 + 23.16
12 37 + 2.24 5.01 17.46 - 17,21 296.18 - 39.55
13 33 - 1,76 3.09 50.10 +  15.43 238.08 - 27.15
14 35 + .24 .05 35.00 + .33 10 + 0.07
15 31 - 3.76 14.14 16.60 - 18.07 326.52 + 67.94
16 40 + 5,24 27.45 13.967 = 20,21 428.90 - 105.90
17 32 - 276 7.62 92.84 + 18.17 3383.74 - 160,55
No 591 | 124.97 589.4 7092.10 - 561.05
17 34.76 11,17 34.67 84.21 - 228.92
U7 35913
r = Exy
_J
E.x2 X Ey2
332.13 332.13
11.17 x 84.21 940.62
Ex = _Ex 591
N 17 —
r= - 035 3 - 34.7€
Ey = E = £89.4
i i



